ANSWER TO CONSULTING PROJECT

Estimation and Analysis of Demand for Fast Food Meals

a.
For the data provided to PWC, the most appropriate linear specification of industry demand is 
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b.
Since the manager-owner of the two Burger King restaurants determines the price of Combination 1 meals, you will be estimating the demand facing a price-setting firm.  In this kind of situation, ordinary least-squares (OLS) estimation is appropriate (since price is an exogenous variable).

c.
Your computer printout should look like:

	DEP. VARIABLE:
	Q
	R-SQUARE
	F-RATIO
	P-VALUE ON F

	OBS:
	52
	0.2637
	8.78
	0.00055

	VARIABLE
	
	PARAMETER

ESTIMATE
	STD.

ERROR
	T-RATIO
	P-VALUE

	INTERCEPT
	
	100626.455
	19216.31
	5.27
	0.00001

	P
	
	–16392.786
	5105.28
	–3.21
	0.00233

	A
	
	1.576
	0.6031
	2.61
	0.01187


The estimated demand for Combination 1 meals is
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d.
The algebraic signs of the parameter estimates conform to expectations; especially the parameter estimate for price, which must be negative.  The p-values indicate all parameter estimates are statistically significant at the 1.187 percent level or better.  The R2 indicates that only 26.37 percent of the variation in quantity demanded can be explained by variation in price and advertising expenditure.  This is disappointing.  

e.
With so many competitors (i.e., substitutes) in the Atlanta suburb, it would be useful to have data on the prices charged by competitors.  Indeed, the low R2 suggests that more explanatory variables are probably needed.

f.
The sample mean values of P and A are, respectively, 3.5067 (=
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) and 10,009 (=
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).  Evaluated at these sample mean values, 
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= 58,919.  The point elasticity of demand (at the point of the sample mean values for P and A) is computed as follows:
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The demand for Combo 1 meals is slightly inelastic, almost unit elastic.  A 1 percent increase in the price of Combination 1 meals, all other things constant, will decrease weekly sales by 0.976 percent. 

The advertising elasticity of demand for rutabagas measured at the sample mean values of price and advertising is 0.268, which is computed as follows:
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 EMBED Equation.DSMT4  [image: image8.wmf]
A 10 percent increase in advertising, all else constant, would increase weekly sales of Combination 1 meals by only 2.68 percent.

g.
When the owner charges a price of $4.15 for a Combination 1 meal and spend $18,000 per week on advertising, 60,970 Combination 1 meals will be sold each week:
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h.
Inverse demand is 
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, and the demand price for 50,000 Combination 1 meals is $4.82 (
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